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õ³ç³ÆŠÿ ¯ðþ…. II	 Ò$yìþÄ¶ý$… : ™ðþË$Væü$ 

çÜÐ@þ$Ä¶ý$… :  1:30 ¯@þ$…yìþ 3:00 Ð@þÆæÿMæü$	 ™èþ–¡Ä¶ý$ ¿êçÙ Ð@þ$ÇÄ¶ý¬ C…sñýÍgñý¯ŒþÞ ç³È„æü 
Ððþ¬™èþ¢… Ð@þ*Ææÿ$PË$ : 150	 	 õ³iË$ : 32

0 7 2 2
A

{ï³&òÜMæü…yæþÈ ÝëPËÇÛ‹³ GV>jÑ$õÜçÙ¯Œþ (8Ð@þ ™èþÆæÿVæü†), kOÌñý 2022

{ç³Ô¶ý² ç³{†Mæü Ýë«©…^èþ$rMæü$ Ð@þ¬…§æþ$ Mìü…¨ çÜ*^èþ¯@þË¯@þ$ “Ô¶ý§æþªV> ^èþ§æþÐ@þ…yìþ.
(1)	 D {ç³Ô¶ý² ç³{†MæüÌZ Æðÿ…yæþ$ Ñ¿êVæüÐ@þ¬Ë$ MæüËÐ@þ#. ÐésìýÌZ Ñ¿êVæü… & I ÌZ ™èþ–¡Ä¶ý$ ¿êçÙ  ÑçÙÄ¶ý$… MöÆæÿMæü$ 1 ¯@þ$…yìþ 25 Ð@þ$ÇÄ¶ý¬   

Ñ¿êVæüÐ@þ¬&II ÌZ C…sñýÍgñý¯Œþ² ç³È„æü MöÆæÿMæü$ 26 ¯@þ$…yìþ 75 D Ñ«§æþ…V> {ç³Ô¶ý² {ç³†MæüÌZ 75 {ç³Ô¶ý²Ë$ MæüËÐ@þ# A°² {ç³Ô¶ý²Ë$ Ýë«¨…^èþ$r 
A°ÐéÆæÿÅÐ@þ¬.

(2)	 {ç³† {ç³Ô¶ý² MöÆæÿMæü$ 2 Ð@þ*Ææÿ$PË$ MæüËÐ@þ#.
(3)	 {ç³Ô¶ý² ç³{†Mæü Ýë«¨…^èþ$r MöÆæÿMæü$ Ððþ¬™èþ¢… 90 °Ñ$ÚëË çÜÐ@þ$Ä¶ý$… CÐ@þÓºyæþ$¯@þ$.
(4)	 fÐéº$¯@þ$ Væü$Ç¢…^èþ$r MöÆæÿMæü$ çÜÓ™èþ…{™èþ E™èþ¢Ææÿ {ç³†Mæü CÐ@þÓºyìþ¯@þ¨. {ç³† {ç³Ô¶ý² “MæüÐ@þ$çÜ…QÅ Ð@þ¬…§æþ$ ¯éË$Væü$ ç³Æ>ÅÄ¶ý$Ð@þ¬Ë MöÆæÿMæü$ 

“MæüÐ@þ$çÜ…QÅVæüË Ð@þ–™èþ¢Ð@þ¬Ë$ CÐ@þÓºyìþ¯@þÑ A…§æþ$ÌZ çÜÇOÄñý$¯@þ fÐéº$ Äñý¬MæüP ç³Æ>ÅÄ¶ý$ “MæüÐ@þ$ çÜ…QÅVæüË Ð@þ–™é¢°² Mìü…¨ E§éçßýÆæÿ×ýÌZ 
^èþ*í³…_¯@þ Ñ«§æþ…V> Ææÿ…VæüÇ…^èþ…yìþ.

	 E§é : {ç³Ô¶ý² çÜ…QÅ 6 Äñý¬MæüP fÐéº$ “MæüÐ@þ$çÜ…QÅ 2 AÆÿ¬™óþ, §é°° “Mìü…¨ Ñ«§æþ…V> Væü$Ç¢…^èþ…yìþ.  
{ç³Ô¶ý² çÜ…. 6 - 1 1 3 4

(5)	 “Mìü…¨ Ñ«§æþ…V> Væü$Ç¢…_¯@þ fÐéº$Ë$ ç³ÇVæü×ìý…ç³ºyæþÐ@þ#, CÌê fÐéº$ {ÐéíÜ¯@þrÏÆÿ¬™óþ "çÜ$¯@þ²' Ð@þ*Ææÿ$PË$ CÐ@þÓºyæþ$¯@þ$.  
E§é :        

(6)  	 {ç³Ô¶ý² ç³{†MæüÌZ A™èþÅ«©Mæü…V> 20% {ç³Ô¶ý²ËMæü$ çÜ…º…«©…_¯@þ fÐéº$Ë ¯éË$Væü$ ç³Æ>ÅÄ¶ý$Ð@þ¬ËÌZ° Æðÿ…yæþ$ ç³Æ>ÅÄ¶ý$Ð@þ¬Ë$ çÜÇOÄñý$¯@þÑ 
E…sêÆÿ¬. B Æðÿ…yæþ$ ç³Æ>ÅÄ¶ý$Ð@þ¬Ë$ Væü$Ç¢…^èþyæþ… A°ÐéÆæÿÅÐ@þ¬. §é° MöÆæÿMæü$ B {ç³Ô¶ý² Ð@þ¬…§æþ$ "Æðÿ…yæþ$ çÜÇOÄñý$¯@þ ç³Æ>ÅÄ¶ý$Ð@þ¬Ë¯@þ$ 
Væü$Ç¢…^èþ…yìþ' A° çÜ*^èþ¯@þË$ CÐ@þÓºyìþ¯@þÑ.

(7)	 Æðÿ…yæþ$ çÜÇOÄñý$¯@þ ç³Æ>ÅÄ¶ý$Ð@þ¬Ë¯@þ$ Væü$Ç¢…^èþ…yìþ. CÌê çÜ*^èþ¯@þË$ C_a¯@þ {ç³Ô¶ý²ËMæü$ Ð@þ¨Í Ñ$WÍ {ç³Ô¶ý²ËMæü$ {ç³† {ç³Ô¶ý²MöÆæÿMæü$ JMæüsìý Mæü…sñý 
GMæü$PÐ@þ Ð@þ–™é¢Ë¯@þ$ Væü$Ç¢…_¯@þ fÐéº$Ë$ MösìýtÐóþíÜ C_a¯@þ fÐéº$Ë$ ç³ÇVæü×ìý…^èþºyæþÐ@þ#.

(8)	 JMæüÝëÇ Væü$Ç¢…_¯@þ fÐéº$Ë$ †ÇW Ð@þ*Ææÿ$arMæü$ ÒË$ç³yæþ§æþ$.
(9)	 fÐéº$Ë$ Væü$Ç¢…^èþ$¯@þÐ@þ#yæþ$ ̄ @þË$Ð@þ# Ìôý§é ±Í Ææÿ…Væü$ »êÌŒý ò³¯@þ$²¯@þ$ Ð@þ*{™èþÐóþ$ Eç³Äñý*W…^èþÐ@þÌñý¯@þ$, ò³°ÞÌŒý™ø Væü$Ç¢…_¯@þÑ ç³ÇVæü×ýÌZ°Mìü 

¡Mæü$MøºyæþÐ@þ#.
(10)	 {ç³Ô¶ý²ç³{™èþ…ÌZ {ç³† õ³iÌZ “Mìü…¨ ¿êVæü…ÌZ Ð@þ$ÇÄ¶ý¬ _Ð@þÇ õ³fÌZ _™èþ$¢ç³° ^óþçÜ$Mö¯@þ$rMæü$ Rêä çÜ¦Ë… MæüË§æþ$. A…§æþ$ÌZ¯óþ _™èþ$¢ç³° 

^óþÄ¶ý$Ð@þÌñý¯@þ$.
(11)	 ç³È„æüMæü$ °È~™èþ çÜÐ@þ$Ä¶ý$… E¯@þ²…§æþ$¯@þ H§óþ° {ç³Ô¶ý²Mæü$ fÐéº$ ™ðþÍÄ¶ý$Mæü$¯@þ$² A¨ Ð@þ§æþÍ §é°Ð@þ¬…§æþ$¯@þ² {ç³Ô¶ý²Ë¯@þ$  

Ýë«¨…^èþ…yìþ. _Ð@þÆæÿMæü$ çÜÐ@þ$Ä¶ý$… E¯@þ²^ø Ñyìþ_¯@þ {ç³Ô¶ý²Ë¯@þ$ Ýë«¨…^èþ$rMæü$ {ç³Ä¶ý$†²…^èþ…yìþ.
(12)	 H§óþ° {ç³Ô¶ý²ÌZ ™èþç³š Mæü°í³…_¯@þrÏÆÿ¬™óþ §é° Væü$Ç…_ ç³ÆæÿÅÐóþ„æüMæü$yæþ$ Ìôý§é {ç³È„æü Móü…{§æþ çÜ…^éËMæü$° Ð@þ§æþªMæü$ Ððþâ¶ýå Ñ^éÇ…^èþMæü*yæþ§æþ$.
(13)	 {ç³Ô¶ý²ÌZ° ÌZç³…/™èþç³š/A¿¶ýÅ…™èþÆ>Ë Væü$Ç…_ íœÆ>Å§æþ$ËMæü$ çÜ…º…«¨…_¯@þ ÍS™èþ ç³NÆæÿÓMæü Ñ¯@þ† ç³{™èþ… ´ëuæÿÔ>Ë ÌôýMæü  

™èþÍÏ§æþ…{yæþ$Ë$ »êÏMŠü Gyæþ$ÅMóüçÙ¯Œþ BïœçÜÆŠÿ Ìôý§é Gyæþ$ÅMóüçÙ¯Œþ BíœçÜÆŠÿMæü$ ÍS™èþç³NÆæÿÓMæü §æþÆæÿRêçÜ$¢ ç³…ç³Mæü*yæþ§æþ$. D ÌZç³…/´÷Ææÿ´ër$/ 
A«¿¶ýÅ…™èþÆæÿ çÜÐ@þ$çÜÅË$ çÜ…º…«¨™èþ ´ëuæÿÔ>Ë ÌêW¯Œþ §éÓÆ> Ð@þ*{™èþÐóþ$ B¯ðþ•Ï¯ŒþÌZ ¯@þÐðþ*§æþ$ ^óþçÜ$ MöÐéÍ.

(14) 	 ÌZç³…/™èþç³š/A¿¶ýÅ…™èþÆ>Ë Væü$Ç…_ ÍS™èþ ç³NÆæÿÓMæü Ñ¯@þ† ç³{™èþ… ç³…ç³Ð@þËíÜ¯@þ Væüyæþ$Ð@þ# ç³È„æü ç³ÇçÙ§Šþ Äñý¬MæüP çÜ…Móü™èþ çÜ¦Ìê°Mìü (Website) 
™é™éPÍMæü E™èþ¢Ææÿ (fÐéº$) çÜ*_Mæü Ñyæþ$§æþË ^óþíÜ¯@þ 10 (ç³¨) ÆøkË Ð@þÆæÿMæü$ E…r$…¨.

(15)	 Ð@þ¬{§æþ×ý §øÚëË$ ÌôýMæü C™èþÆæÿ M>Ææÿ×êË Ð@þË¯@þ {ç³Ô¶ý² ™èþç³šV> E¯@þ²r$Ï ™ðþÍõÜ¢ °Ð@þ#×ý$Ë çÜÑ$† AÀ{ç³Ä¶ý$… {ç³M>Ææÿ… ™èþW¯@þ ^èþÆæÿÅ ¡çÜ$Møºyæþ$¯@þ$.
(16)	 ™ðþË$Væü$ Ò$yìþÄ¶ý$…™ø ´ër$ C…XÏ‹Ù ¿êçÙÌZMæü$yé {ç³Ô¶ý² ç³{™èþ… CÐ@þÓºyìþ¯@þ¨. ™ðþË$Væü$ Ò$yìþÄ¶ý$…ÌZ° çÜ…¨Væü¦ {ç³Ô¶ý²Ë MöÆæÿMæü$ C…XÏ‹Ù 

{ç³Ô¶ý²Ë$ ^èþ*yæþ…yìþ.

ïÜr$ ¯@þ….
òÜsŒý

1 2 4
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SPACE FOR ROUGH WORK

Section - I

English
Q. 01 to Q. 03 Instruction -
	 Read the passage and answer the questions.

	 The word ‘astronaut’ means a person who travels in space. The 
soviet astronaut Yuri Gagarin was the first person in the world to travel 
into space, on 12 April 1961. The first Indian person to go into space 
is Rakesh Sharma. On 3 April 1984, Rakesh Sharma rocketed out into 
space with two other Russian astronauts. Rakesh Sharma reported that 
he could identify India easily from space. He could see the blue oceans, 
green land and snow-capped dazzling Himalayas.
	 That is why when the Prime Minister Indira Gandhi asked him 
how India appeared to him from space, he answered - ‘‘Sare Jahan se 
Achchha’’ __ the best in the world!

01. Choose the correct alternative.
Identify what Rakesh Sharma couldn't see from the space.
(1)	 green land			   (2)	 plains
(3)	 blue oceans			   (4)	 snow-capped Himalayas

02. Choose the correct statement for the following. 
Rakesh Sharma was the first person in the world to travel in space.
(1)	 false			   (2)	 true
(3)	 not sure			   (4)	 none of these

03. Fill in the blank with correct word.
astronaut : space : : scuba-diver : ?
(1)	 above-water			   (2)	 sub-marine
(3)	 under-water			   (4)	 across-water
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Q. 04 and Q. 05 Instruction -
	 Read the passage and answer the questions.

	 The elephant is the biggest of all animals on the land. But the biggest 
of all animals lives in the sea. It can be as long as six elephants. It is the 
blue whale. Though it lives in the sea, it is not a fish. It is a mammal. 
The whale lives in water but it breathes air just like us. It has two blow-
holes on the top of its head. These blow-holes are like its nose. Whales 
can not smell, they can not see too well. But they can hear sounds made 
by other whales thousands of km. away.

04. Choose two correct alternatives which are true?
(1)	 The fins are like its nose.	
(2)	 Whale is mammal.
(3)	 Whales can not hear sounds.	
(4)	 They can hear sounds made by other whales thousands of km away.

05. Choose the correct option and fill in the blanks.
Whales can ____ air, they can neither ____ nor ____, but they can ____.
(1)	 hear, breath, see, smell	 (2)	 smell, see, hear, breathe
(3)	 see, breathe, smell, hear	 (4)	 breathe, smell, see, hear

06. Choose the correct alternative..
Surendra Chavan climbed up Mount Everest which rises 8848 meters high 
above sea level. He got praises for his ____
(1)	 expedition	 (2)	 direction	 (3)	 tradition	 (4)	 citation

07. Choose the correct alternative.
Rita likes Pavbhaji, Wada-pav, cake, but her ____ dish is Puri-bhaji.
(1)	 favourite	 (2)	 biggest	 (3)	 tasty	 (4)	 tiny

08. Choose the correct option which does not have prefix.
(1)	 disagree	 (2)	 distant	 (3)	 disappear	 (4)	 dishonest

09. Choose the correct phrase to make meaningful sentence.
The teacher said, ‘‘____ the black board. Write down all the sentences.’’
(1)	 look in	 (2)	 look into	 (3)	 look for	 (4)	 look at
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SPACE FOR ROUGH WORK

10. Choose two correct alternatives which is related with nature.
S K L M S T
D E J O U R
B T A O V E
P Z A N W E
F L O W X V
N U S H I O

(1)	 MOON	 (2)	 STAR	 (3)	 TREE	 (4)	 BUD
11. Choose the correct alternative from the following to complete crossword puzzle.

F
L

S H ? W E R
W

F ? A R
R

(1)	 O, E	 (2)	 U, A	 (3)	 I, G	 (4)	 P, B
12. Choose correct alternative to make meaningful sentence.

a/wanted/royal/maharaja/to/appoint/physician.
(1)	 Royal physician wanted to appoint a Maharaja.
(2)	 Maharaja wanted to appoint a royal physician.
(3)	 Maharaja appointed to want a royal physician.
(4)	 Royal Maharaja wanted to appoint a physician.

13. Complete the sentence using correct form of verb. Choose one correct option.
If you study hard, you ____ pass.
(1)	 are	 (2)	 would	 (3)	 will	 (4)	 should

14. Choose one correct alternative.
You ____ complete your studies then go outside to play.
(1)	 must	 (2)	 may	 (3)	 can	 (4)	 could

15. Read the sentence and recognize its type. Choose the correct alternative.
The doctor said, ‘‘Don't panic.’’
(1)	 Assertive			   (2)	 Exclamatory
(3)	 Imperative			   (4)	 Interrogative
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SPACE FOR ROUGH WORK

16. Find out the number of pronouns in the following sentence.
We had a brain storming session. He spoke to us about it.
(1)	 0		 (2)	 3	 (3)	 1	 (4)	 4

17. Pick out the number of adjectives in the following sentence.
The king was angry but he tried to calm himself.
(1)	 1		 (2)	 2	 (3)	 4	 (4)	 3

18. Choose the correct alternative of passive voice.
The porter opened the door.
(1)	 The door opened the porter.	
(2)	 The door is opened by the porter.
(3)	 The porter was opened the door.	
(4)	 The door was opened by the porter.

19. Choose correct alternative.

The teacher said,
‘‘Look at every
plant, every creeper

(1)	 The teacher told to look at every plant, every creeper.
(2)	 The teacher told that look at every plant, every creeper.
(3)	 The teacher told to looked at every plant, every creeper.
(4)	 The teacher asked if look at every plant, every creeper.

20. Choose one incorrect alternative from the given option.
(1)	 good - better - best		 (2)	 late - later - latest
(3)	 tall - more tall - most tall	 (4)	 thin - thinner - thinnest

21. Choose the correct alternative.
Nitu got first prize in competition.
Her mother said, ‘‘Gr8 work.’’
(1)	 Great	 (2)	 Grit	 (3)	 Grate	 (4)	 Gret
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22. Read the mail and choose correct alternative.

	� The number ‘11’ is related to 
________.

						      (1)	 date	
						      (2)	 font size	
						      (3)	 number of mails	
						      (4)	 time

23. Read the web-site and choose correct alternative.

05-06-2015-World Environment Day

11-06-2015-Sane Guruji Smriti Din

21-06-2015-International Yoga Day

26-06-2015-Social Justice Day

Which days are not mentioned in the web site? Choose two alternatives.
(1)	 Republic Day			   (2)	 Environment Day
(3)	 Independence Day		  (4)	 Social justice Day



0722-Telugu Set-A	  7 of 32	 P.T.O.

SPACE FOR ROUGH WORK

24. If the clock shows the time 10 past five. Which watch shows the right time? 
Choose the correct alternative.
(1)	 12

11 1
10 2

9 3

4

57

8

6

		  (2)	 12
11 1

10 2

9 3

4

57

8

6

(3)	 12
11 1

10 2

9 3

4

57

8

6

		  (4)	 12
11 1

10 2

9 3

4

57

8

6

25. Read the following news and answer the questions by choosing the correct 
option.
	 P. V. Sindhu, Sakshi Malik felicitated by Delhi Government. New Delhi - 
Amidst an auditorium - full of star struck students, fellow atheletes, and family 
members; silver medalist P. V. Sindhu and Sakshi Malik. They were feliciated 
by Delhi Government. They awarded ` 2 crore to Sindhu and ` 1 crore to 
Sakshi, ` 5 Lakh to each coaches Gopichand and Mandeep Singh. Both the 
players were overwhelmed and thanked everyone for the guidance and support 
they received.
Complete the sentence by choosing the correct word.
P. V. Sindhu, Sakshi Malik, Gopichand and Mandeep Singh was awarded by 
_____.
(1)	 Mumbai government		 (2)	 Assam Government
(3)	 Karnataka Government	 (4)	 Delhi Government
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A B C D E                    F G H I J K L M N O P Q R S T U V W X Y

SECTION - II

INTELLIGENCE TEST
Q.26 to Q.30 Direction :
	 Find the odd term.
26. (1)	 Pumpkin	 (2)	 Tomato	 (3)	 Tulsi	 (4)	 Wheat

27.

	 (1)	 (2)	 (3)	 (4)
28. (1)	 505	 (2)	 336	 (3)	 209	 (4)	 126

29. (1)	 72
25 	 (2)	 75

49 	 (3)	 95
16 	 (4)	 91

64

30. (1)	 JV	 (2)	 AU	 (3)	 RX	 (4)	 QW

Q.31 to Q.34 Direction :
	� In the following series determine the rule and find out the term in place of 

question mark.
31. Question Figure :

½

½ ?½

Answer Figures :

½ ½ ½ ½

	 (1)	 (2)	 (3)	 (4)
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A B C D E                    F G H I J K L M N O P Q R S T U V W X Y

Ñ¿êVæü… & II

C…sñýÍgñý¯ŒþÞ ç³È„æü
{ç³Ô¶ý² çÜ…. 26 ¯@þ$…yìþ 30 MöÆæÿMæü$ çÜ*^èþ¯@þ:
	 çÜÐ@þÊçßýÐ@þ¬¯@þMæü$ ^ðþ…§æþ° ç³§æþÐ@þ¬ Væü$Ç¢…^èþ…yìþ

26. (1)	 f¯@þÐ@þÇ	 (2)	 G{í³ÌŒý	 (3)	 l¯Œþ	 (4)	 òÜò³t…ºÆŠÿ

27.

	 (1)	 (2)	 (3)	 (4)

28. (1)	 505	 (2)	 336	 (3)	 209	 (4)	 126

29. (1)	 72
25 	 (2)	 75

49 	 (3)	 95
16 	 (4)	 91

64

30. (1)	 JV	 (2)	 AU	 (3)	 RX	 (4)	 QW

{ç³Ô¶ý² çÜ…. 31 ¯@þ$…yìþ 34 MöÆæÿMæü$ çÜ*^èþ¯@þ:
	 Mìü…¨ Ð@þ*ÍMæüÌZ° {ç³Ô¶ý² _çßý²Ð@þ¬ Ýë¦¯@þ…ÌZ Ð@þ^èþ$a ç³§æþÐ@þ¬ ç³Æ>ÅÄ¶ý$Ð@þ¬Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.

31. {ç³Ô>²Mæü–† 

½

½ ?½

fÐéº$ BMæü–™èþ$Ë$ 

½ ½ ½ ½

	 (1)	 (2)	 (3)	 (4)
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A B C D E                    F G H I J K L M N O P Q R S T U V W X Y

32.
53
225 , 43

144 ,  ? , 29
324 , 19

81 , 13
9

(1)	 31
9 	 (2)	 27

196 	 (3)	 39
729

	 (4)	 37
441

33. 1000, 657, 441, 316, ?, 217, 216
(1)	 300	 (2)	 252	 (3)	 267	 (4)	 341

34. ? ? ?

 (1) (2) (3) (4)

? ? ?

 (1) (2) (3) (4)
	

? ? ?

 (1) (2) (3) (4)
	

? ? ?

 (1) (2) (3) (4)
	

? ? ?

 (1) (2) (3) (4)	 (1)	 (2)	 (3)	 (4)

35. The ratio of the ages of Swara and Meera 5 years before was 3 : 4. Five 
years hence, the ratio of their ages will be 5 : 6. Find Swara’s present age.
(1)	 15 years	 (2)	 25 years	 (3)	 10 years	 (4)	 20 years

36. While conducting the group activities, the group leader used some letters for 
specific instructions. For example - ‘L’ means ‘to read’, ‘M’ means ‘to write’, 
‘V’ means ‘to meditate’. He instructed the students in the following manner. 
How many times he instructed them to meditate?
L M V M L L M V V M L L M V V L M L

(1)	 6 	 (2)	 5	 (3)	 7	 (4)	 8

37. Priya’s mother is Sagar’s mother’s sister-in-law. What is the relation of Priya’s 
father to Sagar’s maternal aunty?
(1)	 Brother			   (2)	 Brother-in-law	
(3)	 Husband			   (4)	 Can’t say
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A B C D E                    F G H I J K L M N O P Q R S T U V W X Y

32.
53
225 , 43

144 ,  ? , 29
324 , 19

81 , 13
9

(1)	 31
9 	 (2)	 27

196 	 (3)	 39
729 	 (4)	 37

441

33. 1000, 657, 441, 316, ?, 217, 216
(1)	 300	 (2)	 252	 (3)	 267	 (4)	 341

34. ? ? ?

 (1) (2) (3) (4)

? ? ?

 (1) (2) (3) (4)
	

? ? ?

 (1) (2) (3) (4)
	

? ? ?

 (1) (2) (3) (4)
	

? ? ?

 (1) (2) (3) (4)	 (1)	 (2)	 (3)	 (4)

35. çÜÓÆ> Ð@þ$ÇÄ¶ý¬ Ñ$Æ> ÒÇ 5 çÜ…Ð@þ™èþÞÆ>Ë “Mìü™èþ… Ð@þÄ¶ý$çÜ$Ë °çÙµ†¢ 3:4 E…yðþ¯@þ$ JMæü Ðóþâ¶ý 5 çÜ…Ð@þ™èþÞÆ>Ë 
™èþÆæÿ$Ðé™èþ ÐéÇ Ð@þÄ¶ý$çÜ$Ë °çÙµ†¢ 5:6 AVæü$¯@þ$. AÆÿ¬™óþ çÜÓÆ> Äñý¬MæüP {ç³çÜ$¢™èþ… Ð@þÄ¶ý$çÜ$ G…™èþ?
(1)	 15 çÜ…Ð@þ™èþÞÆ>Ë$	 (2)	 25 çÜ…Ð@þ™èþÞÆ>Ë$	 (3)	 10 çÜ…Ð@þ™èþÞÆ>Ë$	 (4)	 20 çÜ…Ð@þ™èþÞÆ>Ë$

36. ™èþÆæÿVæü†ÌZ fr$tç³° ^óþçÜ$¢¯@þ²ç³šyæþ$ fr$t {ç³Ð@þ¬Q$yæþ$ Mö°² çÜ*^èþ¯@þË MöÆæÿMæü$ A„æüÆ>Ë¯@þ$ Eç³Äñý*W…^éyæþ$. 
"Ë' ¯@þ$ "^èþ§æþÐ@þ…yìþ', "Ð@þ$' ¯@þ$ "Æ>Ä¶ý$…yìþ' Ð@þ$ÇÄ¶ý¬ "Ð@þ'¯@þ$ "BÌZ_…^èþ…yìþ' D Ñ«§æþ…V> çÜ*^èþ¯@þË$  
C_a¯@þrÏÆÿ¬™óþ "BÌZ_…^èþ…yìþ' A¯óþ çÜ*^èþ¯@þ G°² ÝëÆæÿ$Ï CÐ@þÓºyìþ…¨?
Ë Ð@þ$ Ð@þ Ð@þ$ Ë Ë Ð@þ$ Ð@þ Ð@þ Ð@þ$ Ë Ë Ð@þ$ Ð@þ Ð@þ Ë Ð@þ$ Ë
(1)	 6		 (2)	 5	 (3)	 7	 (4)	 8

37. çÜÐ@þÊà°Mìü ^ðþ…§æþ° ç³§é°² Væü$Ç¢…^èþ…yìþ
(1)	 “V>Ð@þ$…			   (2)	 E§æþÄ¶ý$…
(3)	 Ð@þ$«§éÅçßý²…			   (4)	 ÝëÄ¶ý$…{™èþ…
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38. In the word ‘CHANDRAYAAN’ which letters are to the right and left side of 
the 3rd last letter? (Find out two correct alternatives) 
(1)	 H			   (2)	 Y	
(3)	 A			   (4)	 N

Q.39 and Q.40 Direction :
	� Find out the rule underlying the arrangement of numbers in the following 

questions and choose the correct alternative that will replace the question mark.

39.

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9 

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9 

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9 

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9

(1)	 892	 (2)	 576	 (3)	 823	 (4)	 829

40. If 5 + 3 = 72,  7 – 3 = 20,  4 + 3 = 56 then 9 + 6 = ?
(1)	 15	 (2)	 225	 (3)	 240	 (4)	 12

Q.41 and Q.42 Direction :
	� Identify the correct mirror image of the question figures from the alternatives 

given.

41. Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)
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38. "{ç³†¿¶ý' ç³§æþ°Mìü çÜÇOÐðþ$¯@þ AÆ>¦Ë$ Mìü…¨ ç³Æ>ÅÄ¶ý*ËÌZ Væü$Ç¢…^èþ…yìþ.
(Æðÿ…yæþ$ çÜÇOÄñý$¯@þ ç³Æ>ÅÄ¶ý*Ë¯@þ$ Væü$Ç¢…^èþ…yìþ)
(1)	 AÀÐ@þ–¨® 			   (2)	 ÑÕçÙt™èþ
(3)	 Vöç³µ™èþ¯@þÐ@þ¬			   (4)	 çÜ$ÐéçÜ¯@þ

{ç³Ô¶ý² çÜ…. 39 Ð@þ$ÇÄ¶ý¬ 40 MöÆæÿMæü$ çÜ*^èþ¯@þ:
çÜ…QÅË AÐ@þ$ÇMæüÌZ° çÜ*{™é°² Væü$Ç¢…_ {ç³Ô¶ý² _çßý²… Ýë¦¯@þ…ÌZ Ð@þ^èþ$a ç³Æ>ÅÄ¶ý$Ð@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ.

39.

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9 

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9 

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9 

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9

(1)	 892	 (2)	 576	 (3)	 823	 (4)	 829

40. 5 + 3 = 72, 7 & 3 = 20, 4 + 3 = 56, AÆÿ¬™óþ 9 + 6 = ?

(1)	 15	 (2)	 225	 (3)	 240	 (4)	 12

{ç³Ô¶ý² çÜ…. 41 Ð@þ$ÇÄ¶ý¬ 42 MöÆæÿMæü$ çÜ*^èþ¯@þ:
	 {ç³Ô>²Mæü–† Äñý¬MæüP {ç³†Ð@þ$ A§æþª…ÌZ GÌê Mæü¯@þºyæþ$¯@þ$ Væü$Ç¢…^èþ…yìþ.

41. {ç³Ô>²Mæü–† 	 fÐéº$ BMæü–™èþ$Ë$ 

     
	 (1)	 (2)	 (3)	 (4)
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42. Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)

43. In a hall, the chairs are arranged in a square formation. A girl is sitting at 
the centre place of the square. Three students are sitting to the right and left 
side of the girl in the same row. If all the chairs occupied by the students, 
find the total number of students sitting on the chair.
(1)	 36	 (2)	 49	 (3)	 13	 (4)	 42

44. ‘He made efforts to keep abreast but it was no use.’ Which of the following 
alternatives has the similar meaning to the words in the given sentence.  
(Select two correct alternatives)
(1)	 rubbish			   (2)	 affects	
(3)	 in vain			   (4)	 to try hard

45. In the adjacent figure Akshay is standing at ‘A’ facing sun-set. By the time 
he reached the place ‘B’. How many times his back faced south?

A

B

(1)	 3
(2)	 4
(3)	 6
(4)	 5

46. Choose the author of the book ‘King Lear’ from the given alternatives.
(1)	 Rudyard Kipling		  (2)	 Wordsworth
(3)	 R. S. Stevenson		  (4)	 Shakespeare
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42. {ç³Ô>²Mæü–†		  fÐéº$ BMæü–™èþ$Ë$

     
	 (1)	 (2)	 (3)	 (4)

43. JMæü çÜ¿êVæü–çßý…ÌZ ^èþ™èþ$Ææÿ{ÝëM>Ææÿ…ÌZ Mæü$ÈaË¯@þ$ AÐ@þ$Æ>aÆæÿ$. JMæü AÐ@þ*ÃÆÿ¬ çÜ¿êVæü–çßý…ÌZ° Ð@þ$«§æþÅ  
¿êVæü…ÌZ E¯@þ² Mæü$ÈaÌZ Mæü*Ææÿ$a¯@þ²¨ A§óþ Ð@þÆæÿ$çÜÌZ BÐðþ$ GyæþÐ@þ$OÐðþç³# Ð@þ$ÇÄ¶ý¬ Mæü$yìþOÐðþç³# Æðÿ…yæþ$OÐðþç³#Ë  
Ð@þ¬Væü$YÆæÿ$ A»ê¾Æÿ¬Ë$ Mæü*Ææÿ$a¯é²Ææÿ$. çÜ¿êVæü–çßý…ÌZ Ððþ¬™èþ¢… Mæü$ÈaËÌZ A»ê¾Æÿ¬Ë$ Mæü*Ææÿ$a¯@þ²rÏÆÿ¬™óþ  
B çÜ¿êVæü–çßý…ÌZ° Mæü$ÈaËÌZ Mæü*Ææÿ$a¯@þ² A»ê¾Æÿ¬Ë$ G…§æþÆæÿ$?

(1)	 36	 (2)	 49	 (3)	 13	 (4)	 42

44. Mìü…¨ ÐésìýÌZ Ð@þ$çßý¡Ðé^èþMæü ç³§éË¯@þ$ Væü$Ç¢…^èþ…yìþ. (Æðÿ…yæþ$ çÜÇOÄñý$¯@þ ç³Æ>ÅÄ¶ý*Ë¯@þ$ Væü$Ç¢…^èþ…yìþ.)
(1)	 A™èþyæþ$ 			   (2)	 ç³#çÜ¢Mæü…
(3)	 BÐðþ$			   (4)	 Æ>«§æþ

45. Mìü…¨ BMæü–†ÌZ "A' Ýë¦¯@þ…ÌZ °ËºyìþÄ¶ý¬¯@þ² A„æüÄŒý$Mæü$ G§æþ$Ææÿ$V> çÜ*Ææÿ$Åyæþ$ AçÜ¢Ñ$çÜ$¢¯é²yæþ$ AÆÿ¬™óþ 
"B' Ýë¦¯@þ…Mæü$ ^óþÆæÿ$rMæü$ A™èþ° Ððþ¯@þ$² G°²ÝëÆæÿ$Ï §æþ„ìü×ý… OÐðþç³# Ð@þçÜ$¢…¨?

A

B

(1)	 3
(2)	 4
(3)	 6
(4)	 5

46. "§óþÔ¶ýÐ@þ¬¯@þ$ {õ³Ñ$…^èþ$Ð@þ$¯é²' A¯óþ VóüÄ¶ý*°² GÐ@þÆæÿ$ Ææÿ_…^éÆæÿ$?
(1)	 	 yé. MæüÆæÿ$×ý}			   (2)	 }. Ô¶ýÕM>…™Œþ Ô>™èþMæüÇ~
(3)		  }. çÜÐ@þ$™éÆ>Ð@þ#			   (4)	 }. Væü$Ææÿgêyæþ A´ëµÆ>Ð@þ#



0722-Telugu Set-A 	  16 of 32	  Contd...

SPACE FOR ROUGH WORK

A B C D E                    F G H I J K L M N O P Q R S T U V W X Y

47. Rajanikant was born on Tuesday, 29th February 2000. On which day will he 
celebrate his second birthday?
(1)	 Wednesday	 (2)	 Thursday	 (3)	 Friday	 (4)	 Tuesday

Q.48 to Q.52 Direction :
	� In each of the following questions relation between 3rd and 4th term is the 

same as that between the first and the second term. Find the term to replace 
the question mark.

48. Primary occupation : Cattle rearing  : :  Secondary occupation : ?
(Select two correct alternatives)
(1)	 Tourism			   (2)	 Cotton textile industry
(3)	 Credit - Co - Op - Societies	 (4)	 Iron and steel industry

49. Cricket : Pitch  : :  Wrestling : ?
(1)	 Rink	 (2)	 Wrestler	 (3)	 None of these	 (4)	 Arena

50. 34 : 91  : :  27 : ? . (Select two correct alternatives)
(1)	 351	 (2)	 315	 (3)	 347	 (4)	 117

51. WVU : N  : :  TSR : ?
(1)	 F 	 (2)	 H	 (3)	 C	 (4)	 E

52. Question Figure :

??
Answer Figures :

	 (1)	 (2)	 (3)	 (4)
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47. Ææÿf±M>…™Œþ 29 íœ{ºÐ@þÇ 2000 çÜ…Ð@þ™èþÞÆæÿ…ÌZ Ð@þ$…Væüâ¶ýÐéÆæÿÐ@þ¬ Æøk¯@þ f°Ã…^ðþ¯@þ$. AÆÿ¬™óþ A™èþ°  
Æðÿ…yæþÐ@þ ç³#sìýt¯@þ Æøk H ÐéÆæÿÐ@þ¬ Ð@þ^èþ$a¯@þ$?
(1)	 º$«§æþÐéÆæÿÐ@þ¬	 (2)	 Væü$Ææÿ$ÐéÆæÿÐ@þ¬	 (3)	 Ô¶ý$“MæüÐéÆæÿÐ@þ¬	 (4)	 Ð@þ$…Væüâ¶ýÐéÆæÿÐ@þ¬

{ç³Ô¶ý² çÜ…. 48 ¯@þ$…yìþ 52 MöÆæÿMæü$ çÜ*^èþ¯@þ:
	 Ððþ¬§æþsìý Æðÿ…yæþ$ ç³§éË çÜçßýçÜ…º…«§æþÐ@þ¬ Væü$Ç¢…_ {ç³Ô¶ý² _çßý²… Ýë¦¯@þ…ÌZ Ð@þ^èþ$a ç³Æ>ÅÄ¶ý$Ð@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ.
48. E§éÅ¯@þÐ@þ¯@þ… : ™ør   : :   º…V>ÆæÿÐ@þ¬  :  ?	

(Æðÿ…yæþ$ çÜÇOÄñý$¯@þ ç³Æ>ÅÄ¶ý$Ð@þ¬Ë¯@þ$ Væü$Ç¢…^èþ…yìþ.)
(1)	 ç³ÆæÿÓ™èþÐ@þ¬			   (2)	 M>…^èþ¯@þÐ@þ¬
(3)	 ÐéÄ¶ý¬Ð@þ#			   (4)	 ç³íÜyìþ

49. Ð@þ$çßý¡Ðé^èþMæüÐ@þ¬ : çÜ$gê™èþ  : :  AÐ@þ$çßý§éÓ^èþMæüÐ@þ¬  :  ?
(1)	 Æ>Ð@þ¬yæþ$ 			   (2)	 BÐðþ$
(3)	 A™èþyæþ$			   (4)	 ¯@þËÏºËÏ

50. 34 : 91  : :  27 : ? (Æðÿ…yæþ$ çÜÇOÄñý$¯@þ ç³Æ>ÅÄ¶ý*Ë¯@þ$ Væü$Ç¢…^èþ…yìþ.)
(1)	 351	 (2)	 315	 (3)	 347	 (4)	 117

51. WVU : N : : TSR : ?
(1)	 F		 (2)	 H	 (3)	 C	 (4)	 E

52. {ç³Ô>²Mæü–™èþ$Ë$

??
fÐéº$ BMæü–™èþ$Ë$

	 (1)	 (2)	 (3)	 (4)
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Q.53 and Q.54 Direction :
	� In the adjacent figure, the number of boys who are the fans of different teams 

is shown. Observe the venn diagram and answer the questions that follow :

5

7

5

7
4

11

89
2

6

Dabang Delhi

U Mumba

Puneri Paltan

53. How many boys are the fans of only two teams?
(1)	 26	 (2)	 5	 (3)	 15	 (4)	 21

54. How many boys are the fans of only one team?
(1)	 38	 (2)	 36	 (3)	 94	 (4)	 59

55. Observe the numbers given in the following square and choose the correct 
alternative to replace the questions mark.

7 8 13

4 5 ?

9 12 15

(1)	 8
(2)	 9
(3)	 7
(4)	 6

56. In the following number series find the odd term.
6, 3, 32, 59, 130, 211, 342.
(1)	 6 	 (2)	 342	 (3)	 32	 (4)	 130
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{ç³Ô¶ý² çÜ…. 53 ¯@þ$…yìþ 54 MöÆæÿMæü$ çÜ*^èþ¯@þË$ :
	Mìü…¨ Ððþ¯Œþ BMæü–†ÌZ C_a¯@þ kr$tË ÐéÇ BrË¯@þ$ CçÙtç³yæþ$ í³ËÏË çÜ…QÅ ^èþ*Æÿ¬…^èþºyìþ¯@þ¨ §é°° 
ç³ÇÖÍ…_ {ç³Ô¶ý²ËMæü$ fÐéº$Ë$ Væü$Ç¢…^èþ…yìþ

§æþº…VŠü ÉìþÎÏ

ç³#×ôýÇ ç³Ët×Šý
Ä¶ýÊ Ð@þ¬…»ê 5

7

5

7
4

11

89
2

6

53. MóüÐ@þË… Æðÿ…yæþ$ fr$tË¯@þ$ CçÙtç³yæþ$ í³ËÏË çÜ…QÅ G…™èþ?
(1)	 26	 (2)	 5	 (3)	 15	 (4)	 21

54. MóüÐ@þË… JMæü fr$t¯@þ$ CçÙtç³yæþ$ í³ËÏË çÜ…QÅ G…™èþ?
(1)	 38	 (2)	 36	 (3)	 94	 (4)	 59

55. C_a¯@þ Væüyæþ$ËÌZ {ç³Ô¶ý² _çßý²… Ýë¦¯@þ…ÌZ° ç³Æ>ÅÄ¶ý$Ð@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ?

7 8 13

4 5 ?

9 12 15

(1)	 8
(2)	 9
(3)	 7
(4)	 6

56. Mìü…¨ Ð@þ*ÍMæüÌZ ™èþç³š ç³§æþÐ@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ.

6, 3, 32, 59, 130, 211, 342.

(1)	 6 	 (2)	 342	 (3)	 32	 (4)	 130
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57. In the following table symbols are used for numbers. (Select two correct 
alternatives)

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

Numbers
Symbols

then
4 ' 34

:` `j j8 B× ?3
Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

 

(1)	

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	 (2) 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	 (3) 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	 (4) 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	

Q.58 and Q.59 Direction :

58. In a certain code language SUN is replaced by VXQ, TON is replaced by 
WRQ, then VEX will replace which word?
(1)	 SBU	 (2)	 WDA	 (3)	 LGB	 (4)	 PKF

59. Which of the following alternative gives the word which is opposite of ‘YES’?
(1)	 VQ	 (2)	 QR	 (3)	 WR	 (4)	 WQ

60. Identify the water reflection of the question figure from the given alternatives.
Question Figure :                   Answer Figures :

       
	 (1)	 (2)	 (3)	 (4)
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57. Mìü…¨ Væüyæþ$ËÌZ A…MðüËMæü$ º§æþ$Ë$V> BMæü–™èþ$Ë¯@þ$ Eç³Äñý*W…^éÆæÿ$. (Æðÿ…yæþ$ çÜÇOÄñý$¯@þ ç³Æ>ÅÄ¶¶ý*Ë¯@þ$ 
Væü$Ç¢…^èþ…yìþ.)

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

AÆÿ¬™óþ

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)(1)		

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	 (2)	

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	 (3)	

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	 (4)	

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
{ç³Ô¶ý² çÜ…. 58 ¯@þ$…yìþ 59 MöÆæÿMæü$ çÜ*^èþ¯@þË$ : 

JMæü Ýë…Móü†Mæü ¿êçÙÌZ "ç³ÝëÆ>' ç³§æþ… "NML', "Æ>çœ$Ð@þ' ç³§æþ… "PON' CÌê, AÆÿ¬™óþ "ÝëÐ@þ«§æþ' 
ç³§æþ… "QPM' CÌê Æ>Ýë¢Ææÿ$. ÒsìýÌZ ™ðþË$Væü$ A„æüÆ>Ë “MæüÐ@þ$Ð@þ¬ B…VæüÏ A„æüÆ>Ë “MæüÐ@þ$Ð@þ¬ çÜÐ@þ*¯@þ…V>  
E…r$…§æþ° ^ðþç³µÌôýÐ@þ¬. Òsìý B«§éÆæÿ…V> Mìü…¨ {ç³Ô¶ý²ËMæü$ fÐéº$Ë$ Æ>Ä¶ý¬Ð@þ¬.

58. D Ýë…Móü†Mæü ¿êçÙÌZ "çœ$ÝëÆ>' ç³§æþ… GÌê Æ>Ýë¢Ææÿ$ ?
(1)	 OMN	 (2)	 QMN	 (3)	 MPQ	 (4)	 MPN

59. D Ýë…Móü†Mæü ¿êçÙÌZ "Æ>Ð@þ' ç³§æþ… GÌê Æ>Ýë¢Ææÿ$ ?
(1)	 MP	 (2)	 NP	 (3)	 MN	 (4)	 NQ

60. Mìü…¨ {ç³Ô>²Mæü–† Äñý¬MæüP fË {ç³†¼…ºÐ@þ¬ GÌê Mæü°í³…^èþ$¯ø ç³Æ>ÅÄ¶ý$Ð@þ¬Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.
{ç³Ô>²Mæü–†		  fÐéº$ BMæü–™èþ$Ë$

       
	 (1)	 (2)	 (3)	 (4)

A…MðüË$
BMæü–™èþ$Ë$
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Q.61 and Q.62 Direction :
	 Observe the following figure.

61. All the outer surfaces of the given figure are painted with the same colour. 
How many cubes will have three faces painted?
(1)	 16	 (2)	 14	 (3)	 20	 (4)	 12

62. In the given figure find the maximum number of cubes that are arranged one 
above the other?
(1)	 216	 (2)	 208	 (3)	 200	 (4)	 192

Q.63 to Q.65 Direction :
	� Identify the rhythmic arrangement of terms given below and find the correct 

term in place of the question mark.

63. U W ? M V U V M ? N U N W ? ? U M V N W
(1)	 N U M V			   (2)	 N V W M
(3)	 N W V M			   (4)	 W M V M
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{ç³Ô¶ý² çÜ…. 61 Ð@þ$ÇÄ¶ý¬ 62 MöÆæÿMæü$ çÜ*^èþ¯@þË$ :
	 Mìü…¨ BMæü–†° ç³ÇÖÍ…^èþ…yìþ.

61. çœ$¯éMæü–† ^ðþMæüPÐ@þ¬MæüPË Ææÿ^èþ¯@þMæü$ ºÄ¶ý$sìý ¯@þ$…yìþ A°² ™èþÌêËMæü$ JMóü Ææÿ…Væü$ ç³NíÜ¯@þrÏÆÿ¬™óþ G°² ^ðþMæüPÐ@þ¬MæüPË  
Ð@þÊyæþ$ ™èþÌêË$ Ææÿ…Væü$ ç³NÄ¶ý$ºyæþ™éÆÿ¬?
(1)	 16	 (2)	 14	 (3)	 20	 (4)	 12

62. Oò³ BMæü–†ÌZ çÜÐ@þ*¯@þ BM>Ææÿç³# VæüË GMæü$PÐ@þÌZ GMæü$PÐ@þ G°² çœ$¯éË$ JMæüsìýOò³ JMæüsìý Ææÿ_…^èþºyézÆÿ¬?
(1)	 216	 (2)	 208	 (3)	 200	 (4)	 192

{ç³Ô¶ý² çÜ…. 63 ¯@þ$…yìþ 65 MöÆæÿMæü$ çÜ*^èþ¯@þË$ :
C_a¯@þ ËÄ¶ý$º§æþ®OÐðþ$¯@þ AÐ@þ$ÇMæüÌZ° ç³§éË “MæüÐ@þ$Ð@þ¬ Væü$Ç¢…_ {ç³Ô¶ý² _çßý²… Ýë¦¯@þ…ÌZ H ç³§æþÐ@þ¬  
Ð@þ^èþ$a¯@þ$ §é°° ç³Æ>ÅÄ¶ý*Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.

63. U W ? M V U V M ? N U N W ? ? U M V N W
(1)	 N U M V			   (2)	 N V W M
(3)	 N W V M			   (4)	 W M V M
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64.
???

(1)	 ?????????			   (2)	 ??? ??????	

(3)	 ?????????			   (4)	 ?????????

65. 3 6 9 7 1 2 2 3 1 6 9 7 7 2 9 3 6 1 1 7 ? ? ? 9
(1)	 3 2 6	 (2)	 6 2 3	 (3)	 6 7 3	 (4)	 3 6 2

66. A square sheet of paper folded and cut as shown in the question figure. How 
will the figure look like when the paper is unfolded. Choose the correct option.
Question Figure :                   Answer Figures :

          
	 (1)	 (2)	 (3)	 (4)

67. Find the hidden part of the question figure from the alternatives given.
Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)
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A B C D E                    F G H I J K L M N O P Q R S T U V W X Y

64.
???

(1)	 ?????????			   (2)	 ??? ??????
(3)	 ?????????	 		  (4)	 ?????????

65. 3 6 9 7 1 2 2 3 1 6 9 7 7 2 9 3 6 1 1 7 ? ? ? 9
(1)	 3 2 6	 (2)	 6 2 3	 (3)	 6 7 3	 (4)	 3 6 2

66. {ç³Ô>²Mæü–†ÌZ° M>W™èþÐ@þ¬¯@þ$ Ð@þ$yæþ™èþ »ñýsìýt béÄ¶ý*…Mìü™èþ ¿êVæü… ^ørÏ Mæü†¢Ç…_ §é°° ™ðþÇ_¯@þrÏÆÿ¬™óþ, B 
BMæü–† Mìü…¨ ç³Æ>ÅÄ¶ý$…ÌZ° H BMæü–† Ñ«§æþ…V> Mæü¯@þºyæþ$¯@þ$?
{ç³Ô>²Mæü–† 		  fÐéº$ BMæü–™èþ$Ë$

          
	 (1)	 (2)	 (3)	 (4)

67. C_a¯@þ BMæü–†ÌZ §éWÐ@þ#¯@þ² ¿êVæü… ç³Æ>ÅÄ¶ý$Ð@þ¬Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.
{ç³Ô>²Mæü–†			   fÐéº$ BMæü–™èþ$Ë$

     
	 (1)	 (2)	 (3)	 (4)
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Q.68 to Q.70 Direction :
	� Observe the following pyramid and the sequence of the terms given in the 

questions that follow. Choose the correct term from the alternatives given that 
will replace the question mark. (Select two correct alternatives.)

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

68.

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 L 8 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 : 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 L I 2 : : A ↓ 7  : ?
(1)	 1 C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 2			   (2)	 1 6 ↑ 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

(3)	 2 I 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9        ↑			   (4)	 A ↓ F C

69.  3 4 G 6 C : 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 C E F ↓ 3  : : D 4 G H L 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
 : ?

(1)	 5 F E 9 L 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
 4		  (2)	 5 E F 9 I L 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)(3)	 5 F E 9 L 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
			   (4)	 5 E I L 8 ↓ 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

70. A G B 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 8 : 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 H 3  : : ? : 2 9 C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

(1)	 1 9 B 2 I			   (2)	 1 F C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 I
(3)	 1 F B 2 I			   (4)	 1 E B 2 I
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{ç³Ô¶ý² çÜ…. 68 ¯@þ$…yìþ 70 MöÆæÿMæü$ çÜ*^èþ¯@þË$ :-
Mìü…¨ Vøç³#Ææÿ… Äñý¬MæüP ç³ÇÖË¯@þ ^óþíÜ {ç³Ô¶ý²ÌZ° ç³§éË Ð@þ$«§æþÅ Ð@þ#…yóþ A…MðüË$, A„æüÆ>Ë$, _à²Ë  
“MæüÐ@þ$Ð@þ¬ Væü$Ç¢…^èþ$Mö° {ç³Ô¶ý² _à²Ë Ýë¦¯@þ…ÌZ Ð@þ^èþ$a ç³§æþÐ@þ¬ Væü$Ç¢…^èþ…yìþ. (Æðÿ…yæþ$ çÜÇÄñý$¯@þ ç³Æ>ÅÄ¶ý*Ë¯@þ$ 
Væü$Ç¢…^èþ…yìþ.)

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

68.

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 L 8 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 : 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 L I 2 : : A ↓ 7  : ?
(1)		  1 C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 2			   (2)	 1 6 ↑ 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

	
(3)		  2 I 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9        ↑			   (4)	 A ↓ F C

69.  3 4 G 6 C : 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 C E F ↓ 3  : : D 4 G H L 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
 : ? 

(1)	 5 F E 9 L 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
 4		  (2)	 5 E F 9 I L 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)(3)	 5 F E 9 L 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	 		  (4)	 5 E I L 8 ↓ 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

70. A G B 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 8 : 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 H 3  : : ? : 2 9 C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

(1)	 1 9 B 2 I			   (2)	 1 F C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 I
(3)	 1 F B 2 I			   (4)	 1 E B 2 I
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71. One is added to the position of serial number of each letter in  the alphabet 
series. Find the sum of the serial numbers of the word which is opposite to 
the word ‘EAST’? choose the correct option.
(1)	 71	 (2)	 63	 (3)	 66	 (4)	 73

72. In the following series determine the rule underlying the series and find out 
the term in place of the question mark.
Y, A, V, D, ?, I, J, P, A, Y
(1)	 I 	 (2)	 D	 (3)	 Q	 (4)	 P

73. Choose the correct alternative to complete the question figure.
Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)

Q.74 and Q.75 Direction :
	� Choose the correct figure from the alternatives given that exactly matches with 

the question figure.

74. Question Figure :                   Answer Figures :

       
	 (1)	 (2)	 (3)	 (4)
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71. B…VæüÏ A„æüÆæÿÐ@þ*ËÌZ° {ç³† A„æüÆ>°Mìü §é° Ððþ¬§æþsìý A¯@þ$“MæüÐ@þ$Ð@þ¬ Mæü¯@þ² JMæüsìý GMæü$PÐ@þ ÑË$Ð@þ C_a¯@þrÏÆÿ¬™óþ 
"EAST' ç³§é°Mìü Ð@þÅ†ÆóÿMæü ç³§æþ…ÌZ° A„æüÆ>Ë A¯@þ$“MæüÐ@þ$Ð@þ¬ Ððþ¬™èþ¢… G…™èþ?

(1)	 71	 (2)	 63	 (3)	 66	 (4)	 73

72. Mìü…¨ Ð@þ*ÍMæüÌZ° {ç³Ô¶ý² _çßý²… Ýë¦¯@þ…ÌZ Ð@þ^èþ$a ç³§æþ… ç³Æ>ÅÄ¶ý*Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.

Y, A, V, D, ? , I, J, P, A, Y
(1)	 I		 (2)	 D	 (3)	 Q	 (4)	 P

73. C_a¯@þ {ç³Ô>²Mæü–†° ç³NÇ¢ ^óþÄ¶ý¬r MöÆæÿMæü$ çÜÇOÄñý$¯@þ ç³Æ>ÅÄ¶ý$Ð@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ.

{ç³Ô>²Mæü–†			   fÐéº$ BMæü–™èþ$Ë$

     
	 (1)	 (2)	 (3)	 (4)

{ç³Ô¶ý² çÜ…. 74 Ð@þ$ÇÄ¶ý¬ 75 MöÆæÿMæü$ çÜ*^èþ¯@þË$ :- -

	 {ç³Ô>²Mæü–†ÌêVóü E¯@þ²¨ E¯@þ²r$ÏV> ç³Æ>ÅÄ¶ý*Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.

74. {ç³Ô>²Mæü–†			   fÐéº$ BMæü–™èþ$Ë$

       
	 (1)	 (2)	 (3)	 (4)
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75. Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)
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75. {ç³Ô>²Mæü–†			   fÐéº$ BMæü–™èþ$Ë$

     
	 (1)	 (2)	 (3)	 (4)
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